











































$$S = \sum_{i=0}^{h} 2^{i}(h-i)$$

$$S = h+2(h-1)+4(h-2)+8(h-3)+16(h-4)+\dots+2^{h-1}(1)$$

$$2S = 2h+4(h-1)+8(h-2)+16(h-3)+\dots+2^{h}(1)$$

$$2S-S = -h+2+4+8+16+\dots+2^{h-1}+2^{h}$$

$$= -h-1+1+2+4+8+16+\dots+2^{h-1}+2^{h} =$$

$$= -h-1+2^{h+1}-1$$

$$= 2^{h+1}-1-(h+1)$$

$$S = 2^{h+1}-1-(h+1), \text{ where } N = 2^{h}$$

$$\Rightarrow S = O(N)$$

$$Pundamental Structures of Computer Science II$$

$$Bilkent University$$

$$23$$































































, accannee and ni ne	
<pre>template <class com<br="">LeftistNode<con LeftistHeap<con { if(h1->left = h1->left = else { h1->right if(h1->lef swapCh h1->npl = } return h1; }</con </con </class></pre>	<pre>parable> aparable> * aparable> * parable>::merge1(LeftistNode<comparable> * h LeftistNode<comparable> * h2) const = NULL) // Single node h2; // Other fields in h1 already accurate = merge(h1->right, h2); t->npl < h1->right->npl) ildren(h1); h1->right->npl + 1;</comparable></comparable></pre>